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CC Algebra

Cumulative Review #3.8

Show work for all questions for full credit 

& write your answers on the lines provided!!!

(If you feel no work is needed you must explain your reasoning.)
1) Which inequality represents the situation “Alex has at most $45 to spend on a basketball, including 8% tax?” 

a. p + 0.08p < 45 

b. p + 0.08p > 45 

c. p + 0.08p ≥ 45

d. p + 0.08p ≤ 45

1. ​​​​​​​​​​​​​​​​​​​​​__________​​​​
2) Which statement about the graphs of x = 2 and y = 4 is true? 

a. The two lines intersect at (2, 4) 

b. The two lines intersect at (4, 2) 

c. The graph of x = 2 is horizontal and the graph of y = 4 is vertical. 

d. Both lines pass through the origin (0, 0). 

2. __________​​​​
3) You are purchasing paint and paintbrushes for an art project.  Tubes of paint cost $6 each and paintbrushes cost $8 each.  You plan on spending $60 and purchasing a total of 9 items.  Which linear system best represents the situation? 

a. 6x + 8y = 9 

x + y = 60 

b. 6x + 9y = 60 

9x + 8y = 60 

c. 9x + 9y = 60

6x + 8y = 60  

d. x + y = 9

6x + 8y = 60


3. __________​​​​

4)  George bought a mechanical pencil for $8.  A lead and eraser refill pack costs $2.  Write a linear function to describe the cost of using the pencil as a function of the number of refill packs.  

a. C(r) = 8r – 2 

b. C(r) = 2r + 8 

c. C(r) = 2r 

d. C(r) = 8r + 2 

4. __________​​​​
5) What are the coordinates of the vertex of the graph f(x) = 3|x + 1| – 4? 

5. __________​​​​
6) Solve the system algebraically 8x = 12 + 3y 

                                                  2x + 7y + 28 = 0 










6. __________​​​​
7) You bought a computer for $1800.  The value of the computer will be less each year because of depreciation.  The computer depreciates at the rate of 29% per year.  

a. Write an exponential decay equation to represent this situation

b. Find the value of the computer in 2 years.  

7a. __________​​​​
7b. __________​​​​
8) A rectangular pool has an area of 880 ft2.  The length is 10 feet longer than the width.  Find the dimensions of the pool.  Solve by completing the square.  Round answers to the nearest tenth of a foot. 

8. __________​​​​
9) A dolphin bounces a ball off its nose at an upward velocity of 6 m/s to a trainer lying on a 1-meter high platform.  The function f(t) = -5t2 + 6t – 1 when t = time, models the ball’s height (in meters) above the platform.  Find the time that the ball takes to reach the trainer. 








9. __________​​​​
10) Find three consecutive even integers such that the sum of twice the first and three times the third is fourteen more than four times the second.  







 10. __________​​​​
